
Cause of austerity not effect 
of it

Cause not a pitfall or effect. 
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Lacks Cohesion 
In sentence flow

Unsuitable example. US economic growth was 
phenomenal at that time. Also US isolationist policy 
was solely from political perspective not from 
economic one. US was still trading with numerous 
states at that Time.
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Their

How is this 
relevant to the 
current 
paragraph? Are 
you arguing that 
globalisation 
causes austerity in 
this section? If not 
then why this 
comparison? 
Simply prove your 
point here with an 
example and 
conclude the 
paragraph.

Topic sentence should directly address the 
argument mentioned in the outline. 
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Completely 
Unrelated to the 
heading in the 
outline. No 
structure 
followed.

That is not what you are discussing in the outline. You 
main heading is "Pitfalls of austerity measures vexing 
economic affairs of the state. Meaning effects of 
austerity measures that impede economic functioning of 
state

What is the 
point you are 
discussing 
here. 
Overcomplicat
ed sentence 
structure and 
wording are 
decreasing the 
clarity of your 
arguments.
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You do not have to detail 
the process. You need to 
establish that this 
particular aspect of 
globalisation will austerity. 
Why or how it will do so 
and prove it.

This 
paragraph 
is not about 
free 
trade 
agreements
. According 
to 
outline this 
is about 
economic 
integration, 
which you 
have 
selected to 
be 
increased 
competition
. You can 
only have 
this from 
one 
dimension, 
not all
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If this is not what you are trying to prove, it should not be 
your topic sentence

How 
does 
that 
relate 
to 
globali
zation 
endin
g 
Auster
ity?
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No relation to the topic established 
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You have argued that globalisation ensures free movement of labour not that it ends 
austerity
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How is that ending austerity?
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Start the conclusion from the topic then discuss the essay then move towards generalisation 
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